it 1=
F8ift

(ifig
2024-2025-2
Ixm@hdu.edu.cn



B I B 2
B B R 5
RN kg s = = ST 7

1/17



EENEYIE A




LA

- RTEHER B, RAEKFIMEKRIBRE S AR m, 1 m,
CIREREEA QEFSRET, WNEBKEXNFRL
* MIERKREA/NERE (REIZA 1) HIBEEX

* |RiZ R = | X| > |z|,

1 1
X —xz| R

3/17



R

2R3 2 R R

- _—

. 2
1 +Gm2w2 3 Gm, (Xaz)

1 x B %

4 [ 17



e 7o R




i AR BR

B AR AR

* 5% 1 https://www.bilibili.com/video/BV1Ts4y1s79H/
* #i57 2 https://www.bilibili.com/video/BV1fD4y1A7mT/
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« “The 1 point of the Earth-Sun system affords an uninterrupted view of the
sun and is currently home to the Solar and Heliospheric Observatory
Satellite SOHO.” —NASA

* “The L2 point of the Earth-Sun system was the home to the WMAP (& /R & 7&
O & ) BRI 22) spacecraft, current home of Planck (L EA5 2iE) and
the James Webb Space Telescope (EiRH-F{AZ B LixsE ). L2 is ideal for
astronomy because a spacecraft is close enough to readily communicate
with Earth, can keep Sun, Earth and Moon behind the spacecraft for solar
power and (with appropriate shielding) provides a clear view of deep space

for our telescopes. ”
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« “The L1 and L2 points are unstable on a time scale of approximately 23 days,
which requires satellites orbiting these positions to undergo regular course
and altitude corrections.”

« “NASA is unlikely to find any use for the L3 point since it remains hidden
behind the Sun at all times. The idea of a hidden planet has been a popular
topic in science fiction writing.”
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